
Fo"VI,;-71.

ze. f7+ s* + t6 tl. tF - +o + q zs. Vsl +-l8k +7
Solve. (11'5)

79. 92 :49 80. h2 - 64 - 0 81. 25m2: 16

82. 9x2 - 4: o 83. 6v2 - 54:0 84. 32t2 - 27 : o

Find both roots of each equation to the nearest tenth. (11-5)

85. a2:132 86. b2 - 208:0 87. llc2:473

In Exercises 88-95, refer to the right tri-
angle shown at the right. Find the missing a
length correct to the nearest hundredth.

Simplify.
to2. \/a.4\,5 to3. 2\,8 .3t5
tls. fi .\/1 .\/Z 106. str.$
t*' \,8' \e t1 l"<lOe. vt. v,4
nr. +\F +tE :n2.#
Simplify. Assume all variables represent positive real numbers.

tt4. et )(-sVfr1 ns. t/i6/F + tt

Simptify.
:-r7. sVi - s\/a ttl. 7{t + 6\/t

(l l'7)

rc+ rt .\/6.f,
107. 8{t62
no. \E tE
n3. -!lgv98

(r I -7)

tt6. (1\/3)(-+rGXstES

,2.ffi: n. ,Eg z+. 1":ool rr. J 225xao

88. a: 3, b:4, c: 't 89. a:5, b:8, c: 'r

g0.a:1,b:9,c:13 9l.a:'! ,b:10,c:15
g2.a:8,b: ''t ,c:16 93.a:20,b:'l ,c:30

1-1
94. a: 12. b: ]o. r: t 95. a: ib.b: 15. c: 'l

State whether or not the three numbers given could represent the lengths (ll-6)
of the sides of a right triangle.

96. 21,28,35 97. 9,9, 12 98. 45' 60' 75

gg. 31,41, 51 100. 64, 8a, l}a, a> O 101' 5a, 7a,9a, a) O

'(ll-6)

01-8)

lrs. 3tt4 - 2yG
n0. 4\m + 6fTA u. -10V18 - s\E 122. \/242 - 3\863
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Simplify.

123. \/8-,A n4. \E-,[+ ns. sr[ts.,A
(1r-8)

ne. zt/ot + zt/n - \/3s tzt. t/tn - \/no + Vs00

t r. ,rfr* o\€ - +\/d t2s. tt/i<t/ts - zt/it
Simplify. (rl-9)
r3o. (s - V:lfs + l, rtt. ({1 + q$/j - ol
ttz. $/e - , s>r{o + V5) 133. (4 + t/i12
r34. (5 - {5), ns. Gt/1- +),
tso. (Vrr + zt/i), l:it. ztfo6rt - q.V:l
rrs. (+V5 - oyzr/1 + t1 tto. 1z.r/u + zt/ 6t/t4, + ttfi)
Rationalize the denominator of each fraction. (rr-9)

tm. -l- ut. 2 * 4z+t/t -"'r-Vs

Solve. (rr_10)

rtz.t/i:t w. le.:] ru.rt-S:4
14s.++6:l l*.G:u r4t.t/n-2:g
ttt.+t/x:t leg.\/r+2:5 tso.y/a1r-5+l:8
ttt. 1p - 3 : -2 152. ,[t'l-:3 rsr. sV; : z+{i

Ghaptet 12
Solve. Express irrational solutions in simptest radical form. If the equation (12-t)
has no solution, write '.no solution."
t)25l.m':ft 2.5a2:60 3.w2+52:O
4. xz - 108 = 0 S. 7u2 - ll2:0 6. 4c2 + 7 :23
7.3P-12:-3 8.2n2+9:4 9.e+5)2:16

r0. (z - 5)2 : o rl. 3(k + 4)2 : g1 12. 4(f- l)2 : 6O
13. 2(h + l's2 : 42 14. (2x + 3)2 : 196 15. 7(3y - 1)2 : 168
16. e2 -t 6e i g: u 17. a2 - l2a * 36:49 lg. m2 r lgm* gl : 36
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